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[1] PCB¥H 1,700 480 2,400 KX2.1 HXKS.1
[1-1]E/ 7R b7 =)L 11 4.0 16 0.1 0.3
[12] Y7 a7 x=/JH 590 49 230 0.2 0.5
[1-3] NV Zmer b7 =)L 300 140 360 0.4 0.9
[1-4] 7 h T 7ma b7 - =)L 300 130 550 0.2 0.4
[1-4-11 27 F)F—PCBD > H 33 44- T hTI/nunt 7 =)L (£77) 8.8 2.8 13 0.2 0.4
[1-42] =75 F —PCBDO S 5 34457 R/t 7= (#81) 0.5 nd 0.5 0.2 05
[1-5] X2 7muab 7 - =)L 290 91 690 0.1 0.3
[1-5-11 27T —PCBD > H 23344 - Z7unt 7 -=,L (#105) 23 6.3 44 0.1 0.4
[152] =75 F—PCBD 5 & 23445~ 4 7 A0t 7 ==/ (F114) 15 0.5 35 0.1 03
[1-5-3] 27T —PCBD > H 2344 5% 7unt 7 -=)L (#118) 41 13 110 0.1 0.3
[1-5-4] 27T —PCBD > H 2344 5% 7unt 7 -=)L (#123) 1.1 tr(0.3) 2.3 0.1 0.4
[1-5-5] 27T —PCBD > H 3344 5% 7unt 7 -=,L (#126) 0.5 tr(0.2) 0.7 0.1 0.3
[1-6] ~FH o7 - =L 190 54 450 0.1 0.3
[1-6-11 277 —PCBD > H 23344 5~FH7uubt 7 ==L (#156) 7.0 2.0 16 0.1 0.4
[1-62] =75 F —PCBD 9 b 233 A4 5 ~XHJ 7/ unE7 ==L (£15]) 17 0.5 31 0.2 04
[1-63] =75 F—PCBD 9 b 23 4455 ~XHF 7/ unE7 ==L (£16]) 2.6 0.7 53 0.1 0.3
[1-64] =75 F —PCBD 5 b 33 4455 ~XHF 7 unE7 ==L (£169) nd tr(0.1) 0.4 0.1 0.3
[I-7]~T7 2 7 ma e - =)L 52 14 110 0.3 0.8
[1-7-11 =277 F7—PCBD 9 5 2,233 44 5~7 X 7aab7x=)L (§170) 7.1 1.9 16 0.5 1.2
[1-7-21 27" Z7F7—PCBD 95 2,2' 34455 -~7 % 7aab 7 ==L (#180) 14 3.7 29 0.5 1.3
[1-73] =75 F —PCBD » b 2334455 ~7 4 J A0t 7 ==L (#189) tr(0.6) nd 11 0.3 08
(18] A7 X2 mu 7 =)L 8.5 2.4 18 0.1 0.3
9] /T 7 unt 7 ==/08 1.0 nd 35 04 0.9
[1-10] T A7 x=)L 2.5 0.8 4.3 0.2 0.4
2]HCB (~x Y 7 nu~rt) 270 72 300 0.7 18
B 7/NVEY 17 7.8 110 0.2 0.5
[4 74V KY > 190 120 310 0.3 0.8
[5]=> KV 19 13 33 0.6 1.6
[6] DDT}H 8,900 4,700 13,000 K18 %45
[6-1]p.p'-DDT 2,300 1,400 2,800 04 1.0
[6-2] p,p'-DDE 2,900 1,500 4,800 0.3 0.8
[6-3] p.p'-DDD 2,900 1,300 4,300 0.2 04
[6-4] 0,p'-DDT 310 220 460 0.5 1.2
[6-5] 0,p'-DDE 65 32 110 0.2 0.6
[6-6] 0,p'-DDD 470 210 780 0.2 0.5
[7]1 7 v V7 8 350 200 750 X3 K6
[7-1] cis-Za LT 70 37 160 0.3 0.7
[7-2] trans -7 )L 7 190 110 380 0.7 1.7
[7-3] A ¥ 7 uns 16 10 24 1 2
[7-4] cis-/F7w)v 19 11 43 0.4 1.0
[7-5] trans -/ F 2 1)L 58 29 140 0.3 0.9
[8] ~7" % 7 v VS 200 140 330 K13 X322
[8-1] ~TF % V) 27 13 36 0.4 1.1
[8-2] Cis -~T A7) EARF VR 170 130 290 0.3 0.7
[8-3] trans -~/ Z /L RF LR nd nd nd 0.6 14
[9-1] 2-endo,3-ex0,5-endo,6-¢x0,8,8,10,10-4 7 % 77 2 7R )L > (Parlar-26) nd nd nd 4 10
[9-2] 2-endo,3-ex0,5-endo,6-¢x0,8,8,9,10,10- / F~ 7 12 12 7R )L} > (Parlar-50) nd nd nd 5 12
[9-3]12,2,5,5,8,9,9,10,10- / 7 vt /R )L > (Parlar-62) nd nd nd 30 80
0]~ L v/ = (0.7) nd 12 04 1.0
[11-1] a-HCH 840 850 990 0.4 1.1
[11-2] B-HCH 1,000 950 1,500 0.5 1.3
[11-3]y-HCH (34 : U > 7 ) 97 180 180 0.2 0.6
[11-4] 8-HCH 200 270 330 0.5 1.2
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2] ~X V70Tt 7 ==L nd nd nd 330,40 MK
[12-112,2' 4455~V 7 0E 7 ==, (£153) tr(0.20) nd nd 0.12 0.33
[12-2]2,2' 44,66~V 7 0E 7 ==, (#155) nd nd nd 0.042 0.11
[12-3]3,3' 44,55 ~F V7 0Et 7 ==, (£169) nd nd nd 0.14 0.38
[BIARY T rEYT ==Lz —7)VH (REEP4D10ETOHD) 1,700 1,100 10,000 XOKT2 K210
3117 R 7 RED T = =)Lt—F LA r(32) nd 91 23 69
[13-1-1] 22447 RS9 T AED T = =Lt—7 /L (§47) r(26) nd 78 23 69
[32] ~o ZTAEDT = =)Lt—F LA tr(19) nd 64 8 24
[132-1] 22 445~ X T HED T = =LLt—F L (#99) tr(14) nd 50 8 24
[133] ~F P T aEV7 ==L —F LI 5 nd 22 2 5
[133-1] 2244855 ~FJ TUED T = =/Lx—F L (F153) nd nd tr(9) 4 10
[13-3-2]2,2' 44 5,6-~F 7 0EV 7 == )L—F )L (#154) tr(3) nd 8 2 5
[13-4] ~THTaEV7 x=)LT—7F )L nd nd 25 4 9
[13-4-1122' 3,3 45.6-~7 Z T AED T = =)Lt—5 L (#175) KO nd nd tr(13) 7 20
[13-4-2]2,2' 3,44.,5.6-~FT 4 7 0EY T 2= LT —F )L (#183) DOLHEHE
(135147 # 7 aEY7 = =)LT—7 LI 25 13 78 0.5 12
[136] /77 0&E D7 == )LT—7 LI 230 140 930 4 9
377 HTAEDT = = )LT—F )L 1,400 910 9,100 20 60
[14] ST A ad s ¥ ALK H (PFOS) 30 33 42 37 9.6
[15] v 7 vFuat s 2 (PFOA) 29 tr(8.2) 10 33 8.3
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